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(1.5 marks)
Question 1: Classify each variable as Qualitative or Quantitative.

The answer

The variable that record weights of fruit boxes.

‘The variable that record distance between two cities.

The variable that record type of printers.

(1.5 marks)
Question 2: Classify each variable as Continuous or Discrete. The answer

The variable that record numbers of people in countries.

The variable that record numbers of students in universities.

The variable that record heights of trees in a garden.

(1.5 marks)
Question 3: Determine whether of the

following statements is True or False. The answer

lim F,(z)=0

The median of data is sensitive to extreme values.

Two events 4 and B are independent if P (4 N B) = P(A)- P(B)

1.5 marks)
Question 4: Put the right word or symbol in its proper position:
parameter, ) C &f statistic, @ € of , permutation, combination, independent, exclusive.

Two events 4 and B are ........oceeveemeernsnrnsasnieeses if they do not affect each other.

Selection r distinct objects at the same time from a set of n different objects, is a

Ifa of isan algebra on Q,then ........coooovvmmmmmmemremeee .
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r (7 marks)

Question 5: Let 7,5,3,1,5,4,5,9,6, 26,9, 3, 8 be data of a sample. Then:
a) Calculate the mean for the given data.

................................................................................................................................................................................

...............................................................................................................................................................................
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
.............................................................................................................................................................................

................................................................................................................................................................................

................................................................................................................................................................................

................................................................................................................................................................................

................................................................................................................................................................................

..........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

........................................................................................................................................................

f) Construct the box plot for the given data:

(2 mark)
Question 6: Consider the following data:

D B A D B A C A D C B B A A
A C c B A A A C C A B C B A

D B A B A D C B B C D B A B
Draw the bar graph for the given data.
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If we have data with the following polygon:

Then:
a) Complete the following frequency distribution table for the given data in the previous figure:

Relative Percentage

Class Limit | Class Boundaries | Midpoint | Frequency Frequency % A.CF.

Sum

b) Calculate the mode for the given data.

..................................................................................................................................................
.................................................................................................................................................

..................................................................................................................................................

.......................................................................................................................................

(3 marks)
Question 8: If we have Q a space of elementary evens, 4 and B € 2% with P (4 UB)=0.75, P(AN B)= 0.20 and

P (B)=0.65 . Then calculate the following probabilities:
a) P(4)=

¢) P(A\B)=
d) P(AUB)=

e) P(4|B)=

f) Are the events 4 and B independent, and why?

..........................................................................................................................
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(4 marks) \\
Question 10: A factory has four machines M,, M,, M, and M,. If these machines have the same capacity
(ielkid) to produce. Furthermore, we know that, the defective items from these machines are 7%, 5%, 3% and
2% respectively. Now, if an item selected at random, then:

a) Calculate the probability that the selected item is defective.

b) If we find that the selected item is defective, what is the probability that this item was made by

: ?
machine M, ?
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Question 10: Suppose that Q ={1,2,3,4,5,6}, o =2%nd P(4)=— . Now, let X:Q———R be a

0 for =13
random variable on the probability space [Q2,sf, P] defined by X (@) = {1 for @ =2,4 . Then:
5 for @ =5,6
a) Determine the event {® € Q ; X(w) <z} for all zeR.
b) Determine the distribution function F .
End of Exam
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